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(C ) 26 HB7H ﬁ%l | % 45 amperes- 2.5 hours, ¥4 & % %> amperes- hours?
(A)90. 0 ampere-hour. (B)18.0 ampere-hour. (C)112.5 ampere-hour.
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( ¢ ) 36 The purpose of the oil cooler bypass valve is to
(A)bypass the oil cooler when there is a blockage. (B) control and limit the
lubricating oil pressure. (C) control the flow of oil to the oil cooler according
to the temperature and viscosity of the oil.
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(¢ ) 37 Preignition is indicated by
(A)intermittent firing and low cylinder temperatures. (B)explosions from the
exhaust system with torching or afterburning. (C)engine roughness and a sudden
increase in cylinder head temperatures.
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(A ) 38 The first step to correct preignition is to
(A) retard the throttle. (B)increase the mixture. (C) decrease the mixture.
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(A ) 39 If an attempt is made to start an engine with a hydraulic lock,
(A) a connecting rod can bend or break if the crankshaft continues to rotate.
(B) the starter gearbox can overtorque since the liquid is incompressible and
stops piston movement. (C) the fuel or oil from the lower cylinders can be
injected into the exhaust system causing afterfiring.
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(¢ ) 40 What may cause engine detonation?
(A)High octane fuel. (B)Low manifold pressure. (C)High intake air temperatures.
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(B ) 41 What is a feature of an electromagnetic-type circuit breaker?
(A) It resets automatically. (B)It may be reset immediately. (C)It is necessary
to wait a short time before attempting a reset.
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(B ) 42 Which is an indication of carburetor ice?
(A) Decrease in propeller RPM. (B) Manifold pressure (MAP) drop. (C)Backfiring,
which is caused by a rich mixture.
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(¢ ) 43 The total piston displacement of a reciprocating engine is the
(Mrelationship of horsepower output per cubic inch of cylinder volume. (B)
volume displaced by one piston during one revolution of the crankshaft. (C)volume
displaced by the sum total of all pistons during one revolution of the crankshaft.
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(A ) 44 How 1s engine power output affected by the application of carburetor heat?

(A)Volumetric efficiency is reduced. (B)Mixture is leaned and power is decreased
(C)Weight of the fuel/air mixture is increased.
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(B ) 45 The CG of an airplane is normally located in the fuselage at a point expressed
in
(A)inches from the forward CG limit. (B)B- percent of mean aerodynamic chord
aft of LEMAC. (C)C- percentage of MAC aft of the leading edge of the wing.
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(C ) 46 The CG of an airplane is computed along the
(A) lateral axis. (B)vertical axis. (C)longitudinal axis.
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( A ) 47 The purpose of shutting an engine down with the mixture control at the end of
the flight is to
(AM)prevent an accidental start. (B) preclude liquid lock during subsequent
starts. (C)assure that there is no fuel in the intake system that could result
in a fire.
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( C ) 48 What safety device is actuated by the compression and extension of a landing

gear strut?
(A) Uplock switch. (B)Downlock switch. (C)Ground safety switch.
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(C ) 49 What is the sequence of events for a reciprocating engine to convert chemical
to mechanical energy?
(A)Ignition, compression, power, and exhaust. (B)Compression, ignition, intake,
power, and exhaust. (C)Intake, compression, ignition, power, and exhaust.
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(A ) 50 Pressure from an engine-driven hydraulic pump may be regulated by a

(A) system bypass valve. (B)constant speed drive. (C)in-line variable restrictor
orifice.
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( B ) 51 One purpose of a hydraulic accumulator is to

(A) compress hydraulic fluid. (B)absorb sudden pressure surges. (C) store
hydraulic fluid from small system leaks.
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( ¢ ) 52 Why should synthetic hydraulic fluid be stored in an airtight container?
(A)High evaporation rate. (B)Vapor is extremely toxic. (C) Atmospheric moisture
contamination.
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(B ) 53 What type of electrolyte is contained in a lead-acid battery?
(MBoric acid. (B)Sulfuric acid. (C)Potassium hydroxide.
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( B ) 54 What are the characteristics of the electrolyte in a nickel-cadmium battery?
(A)Noncorrosive. (B)Much like household lye and will cause severe burns.
(C)Harmless compared to the electrolyte in a lead-acid battery.
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(C ) 5 What will neutralize the electrolyte from a nickel-cadmium battery?
(A)Soap and water. (B)Bicarbonate of soda. (C)A solution of boric acid, vinegar,
lemon juice, or some other mildly acid solution.
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(C ) 56 What is the purpose of a fuse-type current limiter?
(A) Prevent overloads in low power circuits. (B)Fast blow design prevents damage
to sensitive circuits or equipment. (C)Permit short periods of overload before
the fuse link melts and breaks the circuit.
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(C ) 57 What is a purpose of enclosing wires or electrical units in metal?
(A) Eliminates ground wires. (B)Prevents the buildup of static discharges.
(C)Eliminates interference with radio reception.
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(B ) 58 What is the difference between a relay and a solenoid?
(A)Relays have movable cores. (B) Solenoids have movable cores. (C)Relays are
used as mechanical control devices.
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(A ) 59 What is the purpose of an electrical relay?
(A)Controls remote, high current equipment items with a small switch. (B)
Prevents static buildup by connecting shock mounted equipment to ground.
(C)Engages starter gears, moves locking pins or other mechanical control
devices.
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(B ) 60 Why is it important that all electrical loads and power sources be turned off
before connecting or disconnecting the battery?
(A)To prevent discharging the battery. (B)To prevent a spark from igniting
explosive gas. (C) To prevent power surges from spiking sensitive equipment.
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(Cc ) 61 If the airplane is equipped with a battery rated to deliver 45 amperes for 2.5
hours, what is the ampere-hour rating?
(A)90. 0 ampere-hour. (B)18.0 ampere-hour. (C)112.5 ampere-hour.
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(C ) 62 Aircraft fuse capacities are rated in
(A)volts. (B)watts. (C)amperes.
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(A ) 63 In aircraft electrical systems, automatic reset circuit breakers
(A)are not used as circuit protective devices. (B)are used in all circuits
essential to safe operation of the aircraft. (C) are found in locations where
only temporary overloads are encountered.
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(A ) 64 What is an electrical relay?
(A)A magnetically operated switch. (B)A device used to increase, or step-up
voltage. (C)A conductor which receives electrical energy and passes it on with
little or no resistance.
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(B ) 65 What unit of power is used in dc electrical circuits?
(A)Volts. (B) Watts. (C)Amperes.
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( ¢ ) 66 Increasing the throttle setting while taxiing with a reciprocating engine will
result in
(A) a decrease in blade angle. (B) an increase in blade angle. (C) an increase
in propeller RPM.
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(C ) 67 What does an increase of approximately 125 propeller RPM indicate during
shutdown?
(A) Idle mixture is correct. (B) Idle mixture is too lean. (C) Idle mixture is
too rich.
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( A ) 68 The propeller governor controls

(A) oil to and from the pitch changing mechanism. (B) spring tension of the boost
pump speeder spring. (C) movement in and out of the linkage and counterweights.
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(A ) 69 Which operational force creates the greatest stress on a propeller?
(A)Centrifugal. (B)Torque bending. (C)Aerodynamic twisting.
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(¢ ) 70 Which flight conditions will result in the largest propeller blade angle?

(A)Initial climb-out. (B)Approach to landing. (C)High-speed, high-altitude
cruise flight.



